M~ A 7 v PP Z v 7
e I b~ L ELE A D Bl

ATRARET RS AR - B i B

H H W

7ydvy b2 b, A M EHERL THBURDZEEICEL, 2o TEOEWER
ELQEHSIN TS, Lo L, IR C FEMEIH L W E v ENH 5. JHEMGEZ
T ETAWMDMHAD D E LT, b ML E L THOEI® 2 HEXETF 6N, THE, 2oL
MM DML T 72T Tws, WL IE, P FE2—LoBEGEICHE~ A 7 o)k
(IF, VUW)ZEH T2 282k, VaxXvPLL-72Aa LBl T, L-AsA)ERFEEDE L b
REFE2—VLOBEENARETH L EHEL TS, L2L, VUIWZHLWTHELZ b2 P E2—L
(LAF, VMW B2 — L)W, BLXOHERINmC, BRI RIFCIE 2 W»R A Z IR IS
LTWw3, INZMBRTZFERELT, MBVLESNEZ o s, FIZIXIETICX %L, b= bZmE
THIEWRED 7 ZVEBBEML, Z7Vy I VBEDOHTFEMNFRICEID ) TR T 2, ZDLH
ZMBVILFIZ X ) VMW B2 — L OBROGGEIHREI N5 — /5T, BUIER T 2 latEksmid s
N5, LaL, MEVLEIZEES K & BWRDOZEIC OO THEBHCIME L 2013 124725 8w, 22
T, AWfETIE, VMW E 2 — L O #LE TREZICMBVILIEZEH L, BMALEN < P2 —1L 0D
oy & & OVBIRICE 2 5 580D\ GG L 7z,

B )ik

1. AR A FIRKBENT O FRBR S, A FREERES E X IR AR AT U RHE S T AP X
Ny xvrr b4 TIIE)EHOK,

2, P2 brE2—LOBE [ R ] f50kgdmH I b~ ba, FEL, Bk, EILxL,
TR TRUCH W, BMESEE, I 3kPa, <A 7 vty 3150W (214W/g-DW), <A 7 v i iHg
Wi 3.5h & L7z, [MNEJOEE] S5E Lz b~ Yo —L03, AL, MELEORHD & BEE T
il U 7. fREif%, 200g D b2 P2 —LZE VRO L THETh oMz Ad, 10, 20 B XU 30 4
DINBINIR %2 1T > 72,

3. MIEIEH Rkl ) a Ry EEE, L-AsA &A%, DPPH 5 ¥ A Vi, BEEE, R,
TIJMEBIONS T AEBENET S E L DI, BRIMM 2T 2. THRAL, T ik, THER, TER
B, TR, TR IO W T, RINEGURL & ik U< 3 BeRECREI L 72,

B HRBXUOE%

1. J4rail : L-AsA 8 X O'DPPH 7 2 A Vi EEMEICE W, MBI X 2 682 8HEDE
37572, SRIOMEVLEIZABIDEEZEICIZ LA L s 2 L, BILKIGHRZ & kho
720 L-ASA G BICKERWENED» 572 B2 65, L-ASA DV R ozl IT X
D, MEZ X 3 DPPH 5 ¥ A WIS EIEE~DHE MmO TRENTH L EEL NS, YVavicH
LClE, 30 MBI I B W THRIMENEA Lz, 21U, mvck vy axvo b7 A8
5 ATRANDEMALI Z 572720 LHEEI NS,

2. BEWREABR ¢ 20 I MMBAAXICE W T) FHRCHK IR DAL 64, ERLIZRITRAEDRDE
oz, ZiUE, MBS KD V8 S VIBOMBAIRNREL Lot I ERT VY I VBE T T =)L
BBOMEN R L ED, I FREZMBL SO EEZEZOND.

|

VMW i b= P E 2 — LICBMBVLELZ 8325 2 Lick b, BROSE, JiRLEE»E L, 2
DRI L R T\ ABLY a Ry o, L-AsA i o, 2RIz, kb,
BINEBVLFEDOE A IZ X D S E 7 VMW F= P2 — L 08BN I NS,

24





